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3, 	112 points] Shown below is a graph of a function r(t). The graph consists of a straight line 
between t =0 and t = 2 and a quarter circle between t = 2 and t = 3. 
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Calculate the following using the graph and the properties of integrals, 
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a. 	[4 points] -3 10 (2 + r(t))dt. 
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b. [4 points] r'(t)dt. 
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c. 	[4 pointsJ The average value of r on the interval [1, 3J. 
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7. 	 (4 points each) Table 1 below displays some values of an invertible, twice-differentiable function 
f(x}, while Figure 2 depicts the graph of the function g(x). 

Table 1 

x 1 2 3 4 5 
f(x) -5 -2 2 4 7 
!,(x) 5 6 =i 3 
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Figure 2: Graph of g(x) 
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Evaluate each of the following. Show your work. 
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(a) 10 g(x) dx - AreQ v" dI:'r ~ ~(U,'" ~ lJ~':: 7 

(b) /3 !'(x) dx 
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(d) /4 (!,(X)g(X) + f(X)9'(X)) dx 

~ 
C~(~)1 (1t)1- [ ~(iJJ Ii)J::0 

i [~( "V,) ] ['-1.2J ~ I 
'-

~ (-S)1
­

j;:'o:!,,) Rvlc (·-\S )-1)~ 


